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Die Hochzeit des Figaro

16

W. A. Mozart
KV 492

Quverture

Presto

=

be

o
Il
|

—

Lg tote £

101

re e

-

I

I

112

11

133
o

|

£ 2

v
o

24

b~ e

e @l 1
18

Z

T |

PP

1 B = |

™

N

. hoTe

v
4 -2

v
2

\J v b
e

N
=0

—
> -

f

214

219

1T

I

I1.# »
.

274

[
(]

3

31817

Edition Peters



e

-

"ﬁ/

T T
7 ; —
—
75| calando Tempo L. o
O 1 > 2
B . b S ]
T e N ‘\/ — cle -

pp_\__-—I)p

2. Akt

- - scen -

Der Liebestrank

Nr. 19 Romanze des Nemorino

-~ -do =— P

Larghetto =
Lo~ = ﬂ-ﬂ*‘
‘ W £ = I I 1 0
— ) ==/ =
P poco rall.
! e 'F - 2 . @
[ >~ 7 = TEe
F : —
———— > P—
cresc sostenuto
‘\ e — . —
| LS 5 —
ig—ag - (%] = D L%}
7 -1 =i =1 = ! 3 7 1
|
cresc.
N — = S
e === T 5 \ =
- - z
7 T D 7 ? ry Vi = E ] 7 ‘7 07 ‘g |l4 S

31817



Ravel — Rhapsodie Espagnole
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